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FOUNDATION COURSE EXAMINATION P ‘

JUNE 2025
FUNDAMENTALS OF BUSINESS MATHEMATICS AND STATISTICS
(Notations and Symbols used are as usual.)

Syllabys 2022

Time Allowed: 1 hour

Full Marks: 100 (2x50)
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SECTION I: FUNDAMENTALS OF BUSINESS MATHEM

ICs (2X20=40 marks)

he triplicate ratio of 1 : 2 is

: . A person saves X 1 on the first day, T 3
(A) 2:3 “ the second day, X 5 on the third day and so
(B) 8:1 on. What is the saving (in ¥) on the 20th day?
¢(C)1:8 ¢+ (A) 39
D)1 4 | %igo [+ 19x2
J‘(z./ The ratio of two numbers is 3 : 4 and 390
eir product is 1452. The smallest bet
S oo numbers is ead . 1T 1,000is deposited at the end of each
(A) 22 [year for a period of 5 years at an interest rate
o (B) 33 10%p.a., then the Future Value Interest Factor
©) for Annuity (Regular) is (
: ‘ (A) 5.610 1)1
My 1 6 9 9% ® 6501 A2 ( /
% What is sum of the mean proportional “©) gigg ° q
_bétween 1.4 %d 35 and the third proportional ' _
to 6 and 97 [ N A /) . A car has travelled to a destination at a
«(A) 20.5 b o peed S with time taken T. If the distance is
(B) 18.5 "7T /ﬁ now doubled and speed is half of its previous
(C) 16.5 rj/\{ speed, then the time taken by the car is
D215 4.9y ’g/ﬂ AT D 5
P 2T
4. If x varies jointly with y and cube root of \'/:2/1_: 7 Q‘@ = Q() ( 5 T ) .
z,whenx=4,y=2andz=27.1fx=8,y=3, 2 ‘
' the value of zis (/D)"W" <D %%/W
(A) 6 = 2 ﬁ s -
B) 27 P 7)& X \ J}}. Find the value of x if
logy 3+1log, 9+log,729=9. RN /
e 297 a2 R1.7g )
Dy64 D7 2 ok i & ~
5. A sum was put at simple interest at a ((gg 2 “ 1
certain rate for 3 years. Had it been put at 2%
higher rate, it would have fetched < 360 more. 10,/The number of terms to be taken so that
The Su&fusoo 142+ 448+ ... will be 8191, is
) ) a A 13
. (B) 26000 2PIUEHE —2PR | 340 ((B; iz QM —{ = 8191
©) T4500 1 1# (©) 11

(D) ¥ 3,600 _Z )t 340 D10
+9
37495 %‘ l ? /k Please Turn Over



B imum and minigy
(A) 7 3x, /2 | vélllr;;zwhere /(x) hasmaximuman
il il []a e AR oY g (A) maximum, x= 1, minimum, x=8
L@/\/EE 3 ( VT | (B) maximum, x = ~ I, mini My
b | n o
?.’1__12 3 %—r i (C) maximum, x = 1, minimum, x
and 3_1;+al—+£—=4,then o (D) maximum, x =—1, minimum, x 2‘:‘
Bl ; i
W o : /Tiﬁpriceofacommodityis?ﬁper
I8 7 7’3 %) %z nd the cost function is C(x)=30x+250. l;;,;
7Li{—Qy fbj the break-even point.
B 3 (4) 12 o
96 = GhE 1% % o((g) 0 0% t2
17 1 '; s ) 15
T w2 N o
16 oz 5 2 b

- LetU=(1,2,3 4 5,6.7.8,9, 10} be
eumversalset,P:{l,z,S}andQ={6,7} |

be the two subsets, The set (PNQ) is
‘(AP W g

) o EAE
©) P | - i
D) 0 k : e

4. In how many ways can final eleven -
Players be selected from'15 players if one of
them, who is in bad form, must always be

- excluded? : "\f | o ey BT
(A) 463 W
(B) 346 R0 "%
o(C) 364

B - .

. Find the value 6f (a h+‘1),‘ when

o U+ 1) -2+ /)

ce between the roots of the

¢ 5, ,,,k((_:) e*(x? +4x)

Yo o
9{2

S + Determine the value of  for which the
.function :

.
f(x)=~—],;_39,for ek

=k, forx=3 ,
is continuous at x =3
(A) 18 :
S (B 12 S
" © 9
s (D)6

o 1
5 . Ify=€xx2’ﬂ1en£241:is %2'6%"'{ B

i 24 20)
’(A) e*(x2 +4x+2) L'X (2%+ ‘

109 (B) g23(42 4 v g

b )(’2(2+9Y)€9(+€7([“
(D e¥(x2+2x+2) é%('zz‘l’\l/’}(-l 2)
y?%h:lemand function ofacertain product

\is =200+ 20x - 22, where x js the number of
units demanded and P is the price per unit,

a—2)! x 120 = (a + 1)1 A / ' y
G+)a (a-1)= 120

r]/ /

B) 5

s 11 7
©+ @=1)a 0l

 Find the marginal Tevenue when x = 10 unjts

(D) 10 Qa,a; 190

Q'b’of\‘(ow %" |
I . e VS

are sold. 4[%'
@320 Qo=2% - |0 NIl

7 ' (B) 420 . % 9)72( N
(©) 300 9pp - DY E
(D) 460 QQ tio |

oy

e
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data for her research.'Then ‘which of the
following statements is true?

(A) BothMr. X and Ms. Yusedpnmary
data. .

(B) Both Mr. X and Ms. Y used
secondary data.

(C) Mr. Xused pnmary data but Ms.Y
used secondary data, '

(D) Mr. X used secondary data but
-Ms. Y used primary data.

\

hich diagrarr{ is suitable for
resenting the cumulative frequency
istribution of heights of soldiers?

/(A) Ogive

(B) Histogram

(C) Line diagram
(D) Scatter diagram

. Fillinthe gap: Inworld export, acountry
contributes 40 per cent of the total world
export. In pie diagram, it represents
degree.

(A) 180
'(B) 144
© (C) 120

. Mr. X collected some field data for his | ‘ e frequency density of a class of a
esearch. Subsequently Ms. Y used the same | gfGuped frequency distribution is defined as

“be 15, then the value of n is

e
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SectioN II: FUNDAMENTALS oF BUSINESS STATISTICS (230260 marks)

'\

(A) Class frequency / Total frequency

(B) Class frequency / Class-faark

(C) Total frequency / Class frequeney :
o (D) Classfrequency/ Widthof the class

5. If the anthmetw mean of n natural
numbers with respective weights 1,2, 3, ..,z 10

(N

(A) 24 360 mé+r) B30
(B) 23 4T '{\‘ )vﬂ»j\_ \j.

(C) 22 7)"’)0 WZ{;@QQM?’ ﬂ

2 /) %L e %0
.26/1f the median of the Qbserv ions
711, 2x - 1, 2x+l 23 and 29 written in

ascendmg order is 18, the value of xis

- o(A) 9 ) E
B) 6 Q?{,—‘\+').'1+I~ =. ) 2}
0 CEET
A 36
W =9 |

\ Ws the arithmetic meah of the |
median and the mode of the data glven below"

PRSI A 49 it

(B)S -
©45 o 9,,5/11, HIF rﬁ

(D) 136

(D) 5.5

R1%,% % 9@,5/ ‘f""'ﬂ
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ollowmg data;

N'=10, 2fx =60, 5,12 = 1000

(A) 64 | U -
(B) V96 ey

e (C) 8
D) 4

. Find the coefﬁc1ent of variation, if the

Sam of the Squares of deviations from mean z di2 =70,n=6.
30 of 10 observations i is 250. 0o(A) -1
S0 08 ) 0 6D (B) I
¢ B) 10% - [0 (© 0.32
(©) 12%‘ b JE_’ (D) -0.68
(D)' 8% 4 . \ i
R e e

HD

. Find thequaruledewatlonofdallywages
%) of seven persons given;

312, 207, 215, 236, 319, 412, 308
(B 62 207/Q10) 21312, 39,
(B) 63 & i |

+(©) 59w L

®)73

N

i

.f»?.’/', st
a frequency d1str1but10n

. For

Fmd the standard dev1at10n from the

4 |
32, ’ﬁle harmonic mean of 1,2
(A) 7/3 “
(B) 3/7 "
[+ ]
(C) 7/12 L +,?
,(D) 12/7 |
U2 +|
Y

. Find the Spearman’s rank corre];
coefficient from the given data; -

{

J{thre regression lines are 4x— 5y + 33=0
nd 20x - 9y = 107, the correlation coefficient

lS
__%{..

J

(A) 0.6

'@q/()ws
/q, . (C) 5Xu
: - D 08 35 ;;., =
y ﬂ_ i
il X o5

. If the correlation coefficient of two
variables x and y s Yy then the correlanon

coefficient of y=*~9 ,(6#0)and v=_d_ (d¢0)

0, +0,) = 100 and the median is 38 If the | . 7’}17
Bowley’s coefficient of skewness is 0.6, what . A) bar Ol ,._
are the values of 0, and 0,7 (\“ b ( & 2,2 /9 ﬂf
N s 070/ b gp,p\
4 (A) Q, =30, Q3 =70 ¢ KB‘ g g (B) (;)rxy
®) 0,=20, Q3=80 Bng\)‘ip \9 A '(a ¢ oA 4«(
it el f
(C) 0, =40, Q3 " Q/‘Q,\ ) biig *”//"B’
D :
(D) QI_IO Q3 90 ?),d’( ) rxy (‘6\/} /
M@ﬂ, @ 0




46, If the correlation coefficient
then the regression line y on x is

d (A) parallel to the x-axis,

(B) parallel to the y-axis. -

#(C) up-ward straight line.
(D) down-ward straight line,

4 nhas affected very badly the wheat -

~crop” is an example of

(A) secular trend \/

(B) cyclical movement Y/
(C) seasonal movement~.

=+1,

N

(D) irregular movement

™

380 Calculate the simple average of price
u ative index for the current year from the
given data:

Item Price perunit  Price per unit
(in%) of (in%) of
current year base year
I 30 25 2
1§ 25 30 092
(A) 203.33
v (B) 101.7
(C) 100
(D) 50.8

9. If the current year prices and base year
prices for all items are same but the quantltle\s/
of items for current year are double of the
quantities of the items for the base year, then
Laspeyres’ price index number is

(A) 50
(B) 150
+(©) 100

LS “‘\

Yy,

S~ )

%If P(A)=%,P(B)=% and_: <

P-3(FBMS)
. If P(ANB)=0 and P(AUB) 1,then
events A and B are

(A) mutually exclusive but not
exhaustive.

(B) neither mutually exclusive nor
exhaustive,

(C) not mutually exclusive but
- exhaustive. :

o (D) mutually exclusive and exhaustive.

g ’(. IJ‘

2 4 Wl
Bofadl 58

P(4U B)=%, then P(4|B) is

|
@) T
- ®)

.'o(é)

niw pl—= Wi— W

R0

b= A~
o = «U@Mf

/ﬁhe probability that a leap year selected
at random will have 53 Fridays is

N3

(D) 200

wy WOHC=Y
o v

(C_)'g‘ Rl 7%7,
©) 3




« Calculate the 3-year weighted moving
dverage for the year 2018 from the following
ata. Apply the weights 0.3, 0.4 and 0.3.
Year: 2016 2017 2018 2019 2020
Production
units:
(in thousand)
)23
(B) 24
+(C) 231
(D) 23.9

EUR. 2) 25

0:%

24" 23
B 1:0: %

Fisher’s and Laspeyres’ price index
¢ pnbers are respectively 129 and 132.5, the
aasche’s price index number is

 (A) 1264
B (B) 1247
(©) 122.8
.(D)125.6

. The expression for the event “neither A

or B occurs” is \
(A) (4'UB") \
e Y R Q\%
(©) (4NB) yh
(D) (4N B)

\V
- An urn contains 2 red and 1 green balls
d another urn contains 2 red and 2 green -
balls. Anurnis selected at random and a ball is
drawn randomly from it. If the ball is found to

bered, then what is the probability that the ball
is selected from the first urn? q

. If 10 occurs 17 times, 8 occurs 15 times
nd 6 occurs 18 times, then the median is :

6 Syllabyg 2

u‘y@ulate the correlation coefficientfro
¢ following data:

n=7, Zy=25,x* =28, Tyt <34}
where x=X-A—’,y=Y‘7-

() 081Sg o s
(B) 0.18 —=

(C) 0.85 _)__E?; H
(D) 0.58

| 1
V8

3P0, =500,  ZRQ,=100,

2P0y =300, LR Q, =200, findthe Fisher’s
quantity index number for the “nth” year with

base year “0”.
wsn E —%{-,Z.'/ (
®) 18333 _ 7-
o(C) 273.86
o [ 22 \p1

Mx

49 'The mean score of a group of 100
dents is 45. Later it was found that the score
55 was misread as 75 and one score 60 was -
taken extra. Find the corrected mean score.

+(A) 44.65
(B) 44.20
(C) 44.40
(D) 45.05

(A) 8
o (B) 10

4 & I
IA A, },—
_’b/(B):,: ] 0
\ 2 ’O> ’\?
%b*,“ © 3 M
1/ q
Tad D) 13 Vv
S

e

e C
W{\;
Vils,

q




